Name : Score :

Teacher : Date :

Solve the Equations

Round your answers to the nearest hundredth.

d-6.4 a+89
1) = 4.8 6) =-82
-6.6 28
87-n
2) -6.8f+56=-7.1 7) =65
6.2
8 53+z
3) 8s-45= 95 8) = 6.4
96
4) -94+1y=177 g5 22 W
4+gy=T. pre ,
h-6.4 x+39
5) =.6.1 10) =.6.2

5.1 -4.5




Name : Score :

Teacher : Date :

Solve the Equations

Round your answers to the nearest hundredth.

d-6.4 a+89
1) = 4.8 6) =-8.2
-6.6 28
d = -25.28 a = -31.86
87-n
2) -6.8f+56=-7.1 n ——-=65
f=187 n = -31.60
8 53+z
3) 8s-45= 95 8) = 6.4
96
s = 15.75 z = 56.14
4) -94+1y=177 g5 22 W
8 8.7 '
y = 136.80 C = 6745
h-6.4 x+39
5) =.6.1 10) =.6.2
51 -4.5

h = -24.71 X = 24.00




